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14. Find the value of x.

1§47 = 180

A
63° .
3 6l +62 = 180
W =180
— AT
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16.  Which plane is parallel to plane EFHG?
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17. The complement of an angle is 59°. What is the
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19. The vertices of a triangle are P(—4, -3), 0O(8, 2),
and R(-5, 8). Name the vertices of the image
reflected in the x-axis.
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20. Name the Property of Congruence that

justifies the statement:

LW = £¥ and ZX = £L¥, then £W = £Y.
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21. What is the converse of the following . -
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If a point is in the first quadrant, then its PO}M’S ave fXS-’)ll"vt
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22. Write the rule to describe the translation that

- moves 7 units to the left and 4 units up.
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23. Find the value of the variable if 2z || J,

ML) =8x+ 27 and mL5=2x+ 45, ol
L1 and L5 axe (Dﬁf’b{)c-‘i’mﬂ}
kZ 20 Hey AN =)

..3 ; ! (5};+3\[:_§XK+H5

5\ 6 4 DT = US
2 7\38 m Xf o 1 4 27

24 I msDEF = 127 o then what are mZFEG /_.DEP‘/ a n&}

and mZLHEG? =X . LEEL are

ET
K Y4 127= JQC)G ‘5€\p@}6mﬁ’ﬁf‘

= I8
g ol
5 = 53/=mlFEC
B % |
. “ha
h

’ S JDEfand 2 HEG ave
H/ v\lﬂ’[‘""]&'ﬂ\\ 0\%?6, 5{—:’ ==
25. If m£BOC = 34e
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